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$OZD\V�+HUH
+HUH�DQG�WKHUH�DUH�FRPPRQ�SKUDVHV��GHVFULELQJ�RXU�ORFDWLRQ��
To truly think about them, though, would cause much complication.

+HUH�LV�VXFK�D�VROLG�FRQFHSW��DV�FRQFUHWH�DV�WKH\�FRPH
But going there’s like caching shadows, simply can’t be done

+HUH�LV�DOZD\V�MXVW�ULJKW�KHUH��WKH�VSRW�ZKHUH�\RX�DUH�DW
$QG�WKHUH�GHSLFWV�D�VRPHSODFH�HOVH��QRZ�ZH�FDQ�DOO�VHH�WKDW

But issue lies in traveling from here to there, you see
For going to what you call there, just will never be

$V�KHUH�DQG�WKHUH�GR�QHYHU�QDPH��WKH�VDPH�VSRW�WKDW¶V�LQ�VSDFH
)RU�KHUH�LV�DOZD\V�ZKHUH�\RX¶UH�DW�DQG�WKHUH¶V�D�GL̆HUHQW�SODFH

So if you were to travel there, there would disappear
For once you were to travel there, there would become here

� ²�$QGHUVRQ�*URRPV


